Protein Synthesis
A worksheet

1. Take the DNA sequence TACAAGCTCTTTGCA and find the complimentary sequence of DNA.

2. Using the original sequence, find the mRNA sequence that would transcribe it.

3. Translate the answer to question number 2 into amino acids (protein).

4. Using the same process, find the protein sequence that translates the complimentary sequence (the answer to #1, would it be the same?)

5. What if the initial sequence of DNA is changed by a mutation to TACAAACTCTTTGCA. How would it change the protein sequence?

6. What if it was changed to TACACGCTCTTTGCA?

